1.1 bought 6 pencils yesterday. | bought 3 pencils today. How many pencils do | have altogether?
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Go to the Next Question




2. There are 2 trees in the field. There are 3 trees on the mountain. How many trees in all?
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Go to the Next Question




3. Helen has 4 brothers and 3 sisters. How many siblings has she got?
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Go to the Next Question




4.Angelo has 6 bunnies. His sister finds 4 more. How many bunnies do they have now?
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Go to the Nest Question




5. There are 5 kangaroos in the zoo. 3 more come. How many kangaroos are there in all?
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